“SLTP” HEADLOCK PARTS GUIDE

Nylon Flap Bumpers © Nylon Washers between flap & face plate

5/16" x 2-3/4" Carr. Bolt/ nut

Std. SLTP locking flaps
Total Headlock Assy.
Includes all parts shown
in circle EXCLUDING
5/16" x 2-1/4" hex bolts
and nuts for mounting.

Face Plate - two required
for complete head

P

5/16" x 2-1/4" Hex Bolts / Nuts

SLTP Control Handle Assembly
g/— Top Rail Control Knob

SLTP Top Rail

T

Roll Pin (short or long)—\

SLTP Top Rail Guides

| ——Main Frame Pipe (top / bottom)

.,

09\

\;ﬂj
LO o o

J1 ol

% /A

1-1/4" x 35-1/4" Notched Post Clamp Sets
Stationary Pipe
1-1/4" x 35-1/4" Bent Pipe
5/16" x 2-1/2" Carr. Bolt A 1/4" x 1-1/2" Wrap Around “U”
with Locknut ~ Bracket
1-1/4" x 34-12" M bl
hipe 3/4" x 35-1/4" Straight Pipe
SLTP Head Blocker




